
D0 cut sets - Sarah
Sarah’s cuts the latest on AuAu on our e-D0 auau sample

production2 because id=200013

trigger id 200013 200001 200003

-------------------

|PVz| < 10 cm

rotation of pos track by 180

TPC hits >= 25

SVT hits >=2 and one track must have 3 SVT hits

DCA daughters <= 200 microns

decay length <= 200 microns (july 300 microns)

DCA D0 to PV <= 300 microns

|N_sigma Kpi| > 1.5 (july : sigma pion < 2 and sigma kaon <1 of p(K)< 1GeV )

p_Kpi > 0.150 GeV

(if more than 1 total nr of hits , not nessecary to have 1 SSD.

But if only 1 hit it is SSD (auau)).



general values
|PVz| < 10 or 20 cm for auau

all silicon hits (SVT+SSD) hits > 1 , > 2

DCA between daughters <= 0.04, 0.02 , 0.03, 0.05 , 0.06  cm

decay length <= 0.04, 0.02, 0.05, 0.06 , 0.03 cm

(and for beauty 0.03-0.07 cm, 0.02-0.07 cm, 0.04-0.07 cm )

DCA D0 to PV <= 0.03    0.02, 0.04 , 0.05 cm

or cos (theta pointing)

|N_sigma K| < 2  and  |N_sigma pi| < 3

p_K, pi > 0.150 GeV  can be enhanced up to 0,5 GeV

refmult cut

cut out upper 10% = 0-399 for auau,   0-140 cucu

cut out upper 20%= 0- 269 for auau,    0-103  cucu

cut upper 30% = 0-178 for auau,  0-74 for cucu

DCA of daugthers to PV (star) < 0.02, 0.03, 0.04, 0.05 cm

Remember to take transverse or 3-d values

Delta(phi) : no cut, 0, and pi  and errors: 1.2 radian

sign e - K

calibration of dedx with V0s - check



cut set 6 - hits>1
|PVz| < 10 cm for auau

all silicon hits (SVT+SSD) hits > 1

refmult cut

cut out upper 10% = 0-399 for auau,   0-140 cucu

DCA between daughters <= 0.04 cm

decay length <= 0.04 cm

DCA D0 to PV <= 0.04 cm

p_K, pi > 0.150 GeV

DCA of daugthers to PV (star) < 0.04 cm

3-d values

3 histograms for : Delta(phi) :    no cut, 0, and pi  and error: 1.2 radian

sign e - K

(Fixed cut :  |N_sigma K| < 2  and  |N_sigma pi| < 3  )

---------------------------



cut set 7 - hits> 2
|PVz| < 10 cm  for auau

all silicon hits (SVT+SSD) hits > 2

refmult cut

cut out upper 10% = 0-399 for auau,   0-140 cucu

DCA between daughters <= 0.02 cm

decay length <= 0.02 cm

DCA D0 to PV <= 0.02 cm

|N_sigma K| < 2  and  |N_sigma pi| < 3

 pT> 0.400 GeV  for every track

DCA of daugthers to PV (star) < 0.02 cm

3-d values

3 histograms for : Delta(phi) : no cut, 0, and pi  and error: 1.2 radian

sign e - K

---------------------------









TO DO list
 for fredmaker

add TPC hits


